






137, 95, ?, 45, 33, 27

A.70
B.60
C.65
D.53
E.NOT



3, 26, 15, 124, 35, ?

A.243
B.543
C.137
D.342
E.NOT



11, 24, 44, 70, 101, ?

A.136
B.102
C.80
D.102
E.163



18, 24, 29, 34, 40, ?

A.47
B.48
C.54
D.56
E.NOT



5, 12, 33, 136, 675, ?

A.5569
B.4426
C.5046
D.4065
E.4056



Directions: Study the following graph carefully 
to answer the given questions-

Total Number of Employees = 2500

Department M : F

Administration 7 : 5

Accounts 2 : 3

HR 5 : 3

Marketing 7 : 8

IT 3 : 4

Operations 5 : 4

Logistics 6 : 5

Printing 2 : 1



What is the ratio between male employees in Administration 
and Printing Departments respectively?
प्रशासन और मुद्रण विभागों में पुरुष कममचाररयों के बीच क्रमशः अनुपात 
क्या ह?ै

A.7 : 4
B.4 : 7
C.3 : 4
D.7 : 3
E.NOT

Total Number of Employees = 2500



What is the difference between total number of employees 
in IT and Operations Departments?
आईटी और संचालन विभागों में कममचाररयों की कुल संख्या के बीच का 
अंतर क्या ह?ै

A.75
B.150
C.100
D.50
E.NOT

Total Number of Employees = 2500



What is the ratio between total number of males in HR and 
Marketing and the total number of females in these two 
departments respectively?
मानि संसाधन और विपणन में पुरुषों की कुल संख्या और इन दोनों 
विभागों में मवहलाओं की कुल संख्या के बीच क्रमशः अनुपात क्या ह?ै

A.13 : 15
B.15 : 13
C.13 : 17
D.17 : 14
E.NOT

Total Number of Employees = 2500



How many female employees are there in Accounts 
Department?
लेखा विभाग में ककतनी मवहला कममचारी हैं?

A.250
B.120
C.125
D.150
E.NOT

Total Number of Employees = 2500



What is the difference between the male and female 
employees in Logistics Departments?
रसद विभागों में पुरुष और मवहला कममचाररयों के बीच अंतर क्या ह?ै

A.50
B.25
C.75
D.100
E.NOT

Total Number of Employees = 2500



143x2 + 43x – 66 
= 0

56y2 + 15y – 56 = 
0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



15x2 − 46x + 35 
= 0

55y2 - 53y + 12 
= 0 

1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND



117x2 + 128x + 
35 = 0

39y2 – 31y – 28 = 
0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



20x2 – 108x + 
144 = 0

8y2 + 18y + 4 = 0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



20x2 + 89x + 99 = 
0

16y2 – 25 = 0

A. X > Y
B.X <Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



486 ÷ 33 + 𝟑
𝟐𝟏𝟗𝟕- 6 × 5 = ?

A.1
B.4
C.9
D.3
E.7

Find the value of ?



( 𝟐𝟐𝟓× 24) ÷ 45 + 𝟔𝟐𝟓= ?

A.31
B.38
C.35
D.33
E.41

Find the value of ?



53 + 25 × 8 = ? + 12 × 5

A.265
B.225
C.245
D.255
E.235

Find the value of ?



(33)2 – (35)2 + (17)2 = ?

A.121
B.138
C.153
D.165
E.NOT

Find the value of ?



336 ÷ 24 × 𝟑
𝟑𝟒𝟑+ (7)2 = ?

A.151
B.157
C.161
D.167
E.147

Find the value of ?



(95.012 – 68.022) ÷ 26.99 × ?= 7987

A.1600
B.2025
C.1225
D.2401
E.2805

Find the approximate value of ?



(5400 + ?× 35.99) ÷ 45.04 = 140

A.25
B.324
C.625
D.144
E.256

Find the approximate value of ?



?2 + 114.09 – 24.06 × 5.14 = 163.19

A.7
B.13
C.11
D.15
E.19

Find the approximate value of ?



1242.45 + 2583.66 ÷ 16.87 = ? –
712.693

A.2214
B.2107
C.2323
D.2455
E.2517

Find the approximate value of ?



32.019 × 16.969 + 26.032 – ?% of 
1800 = 240

A.32
B.68
C.54
D.76
E.NOT

Find the approximate value of ?


